SUMPO SuMPO EPD
WEPD  si7ummss erp)

VERIFIED

Z&ES ¢ JR-AlI-26075E

SUMPOIRIESNITOIS L
—MRALEEAY AT IR EHEHE
RREHFAEXAMHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

/I0ESHE
/Monochrome MFD

ECOSYS
MZ3201ix(US)

RESRFIA M-3R ST

/KYOCERA Document Solutions Inc.

BEH(
Bl Aadnky

BEX R
L a3 O af
R TERRE - EERRE B
M EERRE - RE- UYLV ERRE

HROoBR, TELH-FET
itk 1 £/J0#E 51/ Monochrome MFD
ECOSYS MZ3201ix(US)
A :BFEEAR (EP)
EIRERE : £/70 © 32 /%
BERYM1X: &K A3
TEEENR : 1245
J¥-/FUY R/ ¥+ /FAX(Option)
EREsTuAH | 1ZEEHE

FWEhtEE

RESRFIAIIUI-230X(RK)
MBRIEASD SFRMAREE2158 TEL: 06-6764-3764
https://www.kyoceradocumentsolutions.co.jp

EBRES JR-AI-26075E
HERAPCRES  PA-590000-Al-08
PCR% CIE YN Pals: 13
NS 2026564 16H
REEATEH 202646850
REEA R VATLRRAEA
RIALES JV-AI-26075E
IREEE%NEARE 203146848

PCRLE1-DETE
REHZE 2023%F 94 1H
ZER fily B2
—REEEIEAN D RT I D) UR EHEEE
B=EHRE~

HNEBIRFEE  WHE Az

ISO14025(C > AE E R UT—FDIhsL U 1%EE
CPAER WAHLER

*YATLRAERIEEFNORIEDH A, VAT LRAETLEEED
HEIERLH.

E#F&ES ¢ JR-AI-26075E



SuMiPO

o ...E PD

AAAAA

VERIFIED

SuMPO EPD

1T NEEES (EPD)

Z5&ES ¢ JR-AlI-26075E

SUMPOIRIESANIN TOT T L

—RRIEFIEAY AT IR EHEEHE

RRBFREXAFHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

OF17Y1 7 )V R E T HE R

0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 630 | kg-COzeq
424 1.10 | kg-SOzeq
0%
BRHE 0.03 kg-Sbeq %
EQREMHFAZE mQLE nQFRE mOFER-HIHEE nOFEE- VY1
MER I5H Hif At | ORMuEE Q%E QB |@ER-#sEE GEE-UH1I)
SURZES kg-COseq | 6.3E+02 3.3E+02 5.2E+00 7.0E+01 1.7E+02 6.2E+01
AV B IE kg-CFC-11eq|  6.8E-05 5.7E-05 3.3E-07 8.7E-10 9.5E-06 1.6E-06
k2[4 kg-SOzeq | 1.1E+00 3.0E-01 3.5E-02 1.6E-01 5.0E-01 9.0E-02
HALFEAFIH U kg-CoHseq |  1.4E-02 1.1E-02 3.0E-05 3.8E-04 1.9€-03 2.0E-04
EREL kg-PO.*eq | 2.9E-02 1.6E-02 3.9E-04 7.1E-10 1.2E-02 6.4E-05
BRHEE kg-Sbeq 3.3E-02 3.1E-02 1.8E-05 2.9E-04 1.2E-03 9.2E-05
@ 535
o :IEE i -SRI  KE
ﬁiﬁjﬁ%éi}ﬁ 1:25+02 kg WRERRMIBR : 5%
" . @REFERMEL : £/70 1 153,600
BAERTREIRILF- 6.9E+02 M) _
Q@E%EHEE (EIRIFIK) OBWEELELTVEEA,
MR RUYE BT 21 -ﬁﬁ%itﬂiL\évaj‘(:BL\tif%ELt%%
MR- ME (SRS s DB, TUVIBLUEEE (EPAR)
53 > 0E+01 kg -ERIRINF-AF-TOJ 5 LVer3 2% @A
SUS 37E-01 kg SHEMERBAEL R CHEBTIIHBNSIRFTEAEEIN
Cu 5 8E-01 kg LEEA - HIFEEREMEICE ESnEd,
Al 2.3E-01 kg
R e 2.1E+01 kg
BB R R 2.7E-02 kg
= 2.7E-01 kg
® 9.8E+00 kg
FEREMR 2.1E+00 kg
hRE-4 1.6E+00 kg
n 32 3.2E+00 kg
ARt 9.7E+00 kg
ZOfER - BT B 5.4E-01 kg




SUMPOBRIESANINTOIT A

SuMPO SUMPO EPD AR AY AT S TR R R

q | ..E pD S4TFINBIEEE (EPD) ERATREXAME-14-8

VERIFIED KANDA SQUARE GATE
Zi%x&EF=S © JR-Al-26075E

https://ecoleaf-label.jp

®©-1.Z DMt DIRIEEIE ISR
EBRIRNF-R5-TOIFLEEICEALTVET,
-1SO14001FBE ARG T/ TEELTNET,
SNENN-OTFAF YT I\DT Y REEEERL TV A,

OERLEZRT-IDEXA

FRE(ZIDEA ver3. 1.0 R USUMPOERIEINI SOOI 5 L& 8T -Fv1.16&ERALTVET,

OT-YEEDH L. PCREKLUVETE - EEREESRL TS,
OLLRIOVWTE, BE - EEREICREINLERGERHLLILIEEICLIRDONE A,
(ZBEEURL : https://ecoleaf-label.jp/regulation/)

ZFHES ¢ JR-AlI-26075E



